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Find the nearest positive and negative co-terminal angles with the following. Also state the reference

angle.
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Convert the following into radians or degrees. ?
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Given the following trigonometric ratio, find the remaining 5 trigonometric functions.
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State which quadrants the following functions are positive in

17. Sine 18. Cosine 19. Tangent
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Evaluate the following without a calculator
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State the amplitude, phase shift, period, and vertical shift of each of the following

28, f(x)= 3sin[2(0+g—)]

e i ook * ™

VSe honi 1
30. f(x)=cos(§(9+n'))
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29. f(x)= 3sin(9+4)—3
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31. f(x)= 4cos(6+%)—%
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Graph the following

32. f(x)=sin(0+g-)—3 33. f(x)=cos(20)-1
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34. f(x)=-2sin(6) 35. f(x)=3cos(£(8—1)) kg
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36. An eagle is flying 12,000 feet above the ground. It s

Pots a snake on the ground. The angle of
depression from the eagle to the snake is 35°. How far

i's the eagle to the snake?
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37. James places his survey scope on the top of a 5.5’

tripod. He is 200 feet from a flagpole. He
measures 47° of elevation to the top of the flagpole. How tall is the flagpole?
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